ASHBREZ 107 2FREE 1| SHAL 44 HRAE

2 (@) 5 BE—2a L% =% LUF =@

WHALEMR : BRI BEH2 Ea w100
#+ B O3k e g LE £1R£ 3 R
A (B — B8 % 25 M0 B 4 5 BHFHE)
()L A4S 0=5"00 TR A LR ?
(A) F(-1)=0 ® lmf0=" (©f@=0  Olimf()=-1

()2 3&lim 7(x) =58 lim g(x) =-2 » A im[/(x) - 2xg(x)] & fT ?

A4 B)1 ©)-3 (D) -7

3x—4, x=>1
()3 FJf(x)={x"+ax+b, —2<x<] EX¥EFTH LY TEHEY > Bla-b2EB4T7
5x+6, x<-2

(A)-6 (B)-2 (C)2 (D)6

¥ +3x+2
xP-2x-8

v Bl HL S H i 4 B gy 7

( )4 &Sf(x)=

(A)x=4 @B)x=-1 (CO)x=-2 (D)x=—4

2%’ +x+3

)R] — [ B £(=3) BT ?
x+1

( )S *%kf(x)=

(A)-18 (B)-14 (C)10 (D)14
()6 |h(x)=2xf(x)-4g(x) * B f(-)=3> f(-)=-5 > g(-1)=2F0 g'(-1)=7 > R A'(-1) &

a7 7

(A)-12 (B)-4 (C)8 (D)24

2sin x

()7. 4 lim ZEAT?  ARELE B)-1 (OO (m§

x=0 3x

F@o A HA



1
8. & dh :£+
I8 R =t

=3 1 1 =], o]
w3 05 04 o33

[(~2,5] 69 5 AME 27 2 (A)g (B)% (C)-g— (D)%

L*TWW*%%W%%%%%??

)9. i f(x)=——
x ¥

)10, g FERX V' +2x)° =5x+4 » MEBBLEL (LD R R BT ?

A3 ®B1 ©-1 (D)-3

) IL RE A [x(20 =) dx th 85 R By 17 ?

I I 1
AL (252 -3e) +C  (B) ——x(2x =3e) +C (C)2=(2x* —3¢)* +C
( )20x(x e) (B) 24x(x e) ( )24(36 e)
a»%ufamwc,g¢c%#ﬁo

dx W94 AT ?

e (1]
) 12. A [ s

(A)l-In(e+1D)+In2 (B)l-Ine+1) (C)l+In2 (D)In2

)13. 5 8F# 4 |xInxdx = ax’ Inx+bx*+C » B P C A% Bla+b {8 AT ?

(A)0 (B)% (C)% ®>

VI RMS [ e MBRBAT WEE BT OF ©F

J'
YIS K y=x"-9fix A B REHAHMT? (A)36 (B)I8 (C)12 (D)9

)16, dh&g y=x"—1F0 y=T—x" Y B A7 B 09 B IR @A B A 2

(A)% (B)63—4 ©)32 (D)ﬁ

)17 REHES I;dx:ax+bsecx+dtanx+c HPC AT Alatb+d 2
(sec x + tan x)’

B ?
(A9 (B)5S (C)3 (D)-1
R R



)18 BRI @ RAN? W) B)I O OFAE

X

Y19. HEHBE y=x"+1 > x=0> y=0fx=24% » BILEBLE y bk — B eyrea gy
T A ?

(AJ%?%’(B)6% (C)8z (D)127

nuﬁfm=m@mﬂ’Tﬂm%%&&ﬂﬂ&$x=o%ﬁ%ﬁ%§ﬁﬂ?

4 6 8 4 6 8 4 6 8

(A) xz_x_+x__x_+__“ (B) et X a2 () xz_i+i_x_+_...
2 3 4 2 3 4 2 6 24
(mx%£+:+£
2 24

)21, & z= f(x,¥)=3x"y—5Sxy+5x" —4y+7 B f &% (2,—1)5&"){%%@%<—%,

SCELES ST b
47 31 —-47 31
W5 ®F O—F O

mz:é%%ﬁ”}¢”@wzﬁ%m?

E = 1 1 1
A= (B)=e"+1 (C)=e? (D)—e 24
(A) (B) (Cle™ DF e 45

)23. F 7] & 5 B BATE WAL ?

(A)gln::l (B)iﬁik (C)gcos(ij (D)ilniﬂ

k=2 k=1

203

ﬂ4ﬁfﬁdﬁjiyu&»ﬁmw+rﬁmw=kﬂaw’%k%ﬁ%M?

A)-2 B2 ©)4 D)

ﬂi:éﬁ%ﬁJgﬁJfﬂﬁ@ﬁﬁﬁ%ﬁ?(MHE(EWE(QU%(m%



